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RS0 9,941,778 5,791,445 4,150,333
=2 4,059,500
3 1,400,000
| 1,007,500
= 3,474,778
S42 MA, RS DY EH(SHHSR /5 -5 9,861,600 5,715,898 4,145,702
= 4,059,500
=l 1,400,000
| 1,007,500
= 3,394,600
AUSH MAI|E EH 6,950, 100 3,257,228 3,602,672
= 3,980,000
| 994,000
= 1,976, 100
NEETEEEp In] 457,500 453,000 4,500
202 01t 3,000 3,000 0
01 =2Uoibl 3,000 3,000 0
CNEET =R EESS 3,000
403 RHXISHH SR 20| 454,500 450,000 4,500
01 MXSHMAZEDE 454,500 450,000 4,500
OBAXS AT (4H4) 72,000
OAER0 SHHH(15H4) 112,500
oHlZatRA Ss 270,000
DRI TH A OHF M 4 290,000 290,000 0
403 RHXISHH SR20IH 290,000 290,000 0
01 MXSHRZBE 290,000 290,000 0
ODAXHINSAUH 2T (3N A) 45,000
©H £ 2 5 2 Xl (4,000na) 245,000
DAY - RE 474,500 336,500 138,000
202 OiH| 2,000 2,000 0
01 2Uioibl 2,000 2,000 0
O BLEIYLEN 2,000
403 RHEISHH SR 20 472,500 307,500 165,000
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©DH4 2 B 24K 2 (3ha) 22,500
© 45 5}31 4 AL XI 2 (8ha) 180,000
OAD FE]R T4 (20ha) 150,000
CEELE=WEESY 120,000
IPSPIEESE 52,400 72,500 A20,100
202 048] 2,000 2,000 0
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01 XM= X 50,400 70,500 /20,100
©Q! & & 24 Tt (400ha) 32,400
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SAZAHHML 57,000 120,000 263,000
403 XXM SA=01H 57,000 120,000 63,000
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ANE2USENL(=22) 612,000 612,048 A48
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< 102,000
403 A XIEHSXH=01E 612,000 612,048 A48
Jl 510,000
= 102,000
01 TUXIEHMAZE = 612,000 612,048 A48
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) 510,000
S 102,000
ANE2dUXolIsgEs(=21) 4,376,000 1,080,000 3,296,000
= 3,980,000
& 396,000
403 A XIEHHSXH=01E 4,376,000 1,080,000 3,296,000
= 3,980,000
= 396,000
01 MXIEMAZE = 4,376,000 1,080,000 3,296,000
OAEZ&MUUHXIOIZESE St 4,376,000
= 3,980,000
= 396,000
FTAAL &l 8 & 2eldl X3 (=22) 5,000 5,000 0
Il 5,000
202 O 1,000 1,000 0
D) 1,000
01 WY 1,000 1,000 0
OFTAAIE H &l =8 & 2teldl X3 1,000
p) 1,000
308 MXISHHSOIH 4,000 4,000 0
Jl 4,000
01 HXSHHBLE4E2ES 4,000 4,000 0
OFTAAIS H &l =8 & 2t2|HIXI & 4,000
Il 4,000
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SN

BE: S42 M4, 9SO LS (SUHSLM/ s - S
e siE RS A (¢t &
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
403 XXIEHMISX =201 490,000 390,000 100,000
& 400,000
= 90,000
01 XIXSHA=2EER 490,000 390,000 100,000
ONMIRSHEHAE 490,000
2 400,000
= 90,000
LESAEHRE(2D) 90,100 339,120 N 249,020
= 79,500
& 10,600
403 XXIEHMISX=201HA 90, 100 339,120 A 249,020
= 79,500
& 10,600
01 AXESHA=2EER 90,100 339,120 N 249,020
OGAPAI & 2 2t 90,100
= 79,500
o= 10,600
IIEAY '4 90,000 350,000 A 260,000
403 XXISHHE X201 90,000 350,000 A 260,000
01 XXESHR=2ExR 90,000 350,000 A 260,000
OsAMSIISAEXR 90,000
N2SsEMH 2=(=21D) 16,200 0 16,200
J| 13,500
== 2,700
403 XMXISHMS K201 16,200 0 16,200
J| 13,500
& 2,700
01 XXISH =22 xR 16,200 0 16,200
OUHE MRSAE X 16,200
J| 13,500
& 2,700
sHM2 MEJIE XK (2D) 1,000,000 0 1,000,000
2 1,000,000
403 XXIEHSK=201HA 1,000,000 0 1,000,000
2 1,000,000
01 XXICSH X222 xR 1,000,000 0 1,000,000
Os2=4t2 HZEX.IJIZ2 XK (BIHA) 1,000,000
Z 1,000,000
==Y |4 342,500 479,750 AN 137,250
=S A ECHHF 153,000 196,500 N43,500
202 (4 bl 3,000 3,000 0
01 2Wobl 3,000 3,000 0
S|P IRFA 3,000
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ool +ESY 84 (el a2
SA-HH O (SIH) - NEAY - BaS 0l aF ol Soe HRZ2
308 XXIEHMSOIH 90,000 87,500 2,500
01 AXEMINEXZ 90,000 87,500 2,500
OsS¢&tE2 =&5&8Y| XA 90,000
402 SIZHXFE0|M 60,000 100,000 A 40,000
01 2t =X 60,000 100,000 A 40,000
OsASHAAEHINA 60,000
== BHEH 189,500 283,250 A93,750
202 (4 2,000 2,000 0
01 2| 2,000 2,000 0
Ox=Z)|Et&gR=A 2,000
403 XX SHAHSKA=201H 187,500 281,250 N93,750
01 AXIEHMA2EE 187,500 281,250 A93,750
O%+=&=s&H(10IH2A) 37,500
OMNHEIHALESHS X Z S (2ha) 150,000
HHSAAH (LSS0 ) (IIEHIIE 80,178 75,547 4,631
ol 2A 53,918 48,287 5,631
=223 o1AHdl X& 53,918 48,287 5,631
101 ol 24| 53,918 48,287 5,631
02 JIEt& 2 53,918 48,287 5,631
os3(U3) 3,384,000 x1H x12& 40,608
(OPIEES=] 960
Ol Xt 40,000& x1H = 12& 480
Of2IH 20,000 x2H x12& 480
OFAHZAH| 130,000& x 1H = 12& 1,560
OAH I At 3,384,000 x70%*1/30% 11 869
OAZIAZR+Y 7,8613 %67 Al 2t x12& 6,321
otalesy| 50,000& x1H «12& 600
OZxZz 2 Xl 250,000& x 1 =128 3,000
Jl22& | 26,260 27,260 1,000
EN2Y JI2& | 26,260 27,260 A 1,000
201 Et24d| 19,540 19,540 0
01 AP 2elbl 19,540 19,540 0
ORNSY AR 224 19,540,000& 19,540
202 04| 6,720 6,720 0
01 2Wobl 6,720 6,720 0
OFAN2Z =AY 6,720,000 6,720




